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1. Find the cost of :- L AL
| | et PO AR !ﬁlé's‘if
(a) 2 packets of gum. e | e,
(b) 3 bags of crisps. o CS;V:e’SC Shfpgp
(c) 2 packets of sooks Rgckp/ %
(d) 3 sticks of rock. . Sooks - 8p
: o Gum - 4p
2. Find the cost of :- & Chews = — 6p

\
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" *(a) Z bdgs of crisps and 3 packs of chews. ' : S

(b) 3 packets of sooks and 2 s_tic!<s _o'f rock.

3. (@) How much change would you get from 20p if you

bought 2 packets of gum ?
(b) I buy 3 bags of crisps. I hand over two 20p

pieces. How much change do I get ? _.ll

Answers to Mild Task
1(a)2X4=8p (b)3X9=27p (c)2X8=16p (d)3X7=2lp

2 (a) Crisps -2 X9=18p Chews-3 X 6=18p TOTAL - 18 + 18 = 36p
(b) Sooks -3 X 8=24p Rock-2X7=14p TOTAL - 24+ 14 = 38p

3(@)6um-2X4=28p Change 20 - 8 = 12p
(b) Crisps -3 X 9=27p Change 40p - 27p = 13p
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21.| 1. Copy these into your jotter and do them :—
(no calculators) '

(@ 16 () 28 © 8 (@

2. Find := |
(@ 4x63 (B)5x73 () 4x48 (d)5 x 64
3. (a) A new tyre costs £36. How much

would a set of 4 cost ?

(b) A packet of sweets weighs 67

~grams. How much would 5 packets
- weigh ? s

Answers to Hot Task

21. 1. (a) 64 (b) 140 (c) 212 (d) 185 -
(e) 144 (f) 260 (g) 276 (h) 425.
(a) 252 (b) 365 (c) 192 (d) 320.
3. (a) £144 (b) 335 grams. '
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Crisps
Vinegar

1. Shown are different makes of crisps. What is the
total weight of :-

(a): 4 packets of Soggy’s (b) 5 packets of Duff’s
(¢) 4 packets of Bob’s (d) 5 packets of Jock’s ?

2. What 1s the total weight of :-

(a) 5 packets of Bob’s and 4 packets of Jock’s ?
(b) 4 packets of Duff’s and 5 packets of Crispy’s ?

3. Which weigh more :-

4 packets of Crispy’s or 5 packets of Soggy’s ?

Answers to Extra Hot Task

22. 1. (a) 168g (b) 1404 (c) 196 g (d) 270 g.

265 iVZo
2. (a) 4e1g72w? (b) 292g.1560

3. Crispy's— 144’Jg , Soggy's—210g~  Soggy's is heavier by €6 g.




